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Unit 3 Test Study Guide
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Use the triangle to the right for questions 1-5. A
2. TanC= ‘g_ 2 -s& & 3

.SinA= 1%
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4.Find mecA Z7.(" @ . B Z C
5. FindmsC QT 4"
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6. In AABC,where £ACB =909 sind = %. Find cos A. Draw a diagram.
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Find the missing side or angle in the following friangles

7.
tan(ou) = %

X-tan(6u) = 17
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11. The top of a waterslide is 14 ft above the ground. 12. A pole casts a shadow that is 14 ft long. The angle
The angle of depression from the top of the water of elevation is 45°. What is the length of the
slide to the ground is 220, Ho is the slide? pole? %
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13. The shorter leg of a 30-60-90 triangle 1s 7.4 meters long. Find the triangle’s perimeter.
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14. A forest ranger is on a five lookout tower in a Vir's ~ - =

national forest. His observation post is 214 ft above Iz

the ground. He spots 4 fire, The .:mglc of depression

from his line of sight to the fire is 129, How far Z[L( \
away is the fire from the lookout tower in terms of - w
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line of sight?
6'H/\(\2_3:?/“'L. X= 2"5_

= Wiy [homzar

X&) =2

15. Find angles X and Z, 16. Find angles A and C.

o ) VAl
COS(Z =x & e zzr? 4 )
X=43.15 W jﬁ by 2.2

sm—l(‘%\.ri’, 2z P ¢ = 90-41.74 ‘“—@r /

Find the area of ewsh triangle
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For questions 19 - 22, leave your answer in simplest radical form.
| TR
19. What is the hcigth of the house? 20. What is the area of the circle?
Wy >SL=T by L o IR
‘ e 4 X
SLdLL = by I3 R

l 5.9m big - I_l“!_‘-l:‘
8! X B = 3]
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21. 22. The figure below is a parallelogram which has
an area of b x h.Find its area.
Xtlx =426 x-R7
3x <40’ ez w2l J ;
X=30 w3 : 22emi

[ m 30 cm

SLLL= e by 3
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R =235 D 2 =!(0! 2.3 2t =
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